€35 TIPS

X2 0j|4|0](2,000%})

)2 2210] 7kx[a A=

=
=]

= XA E Al71, MY
= dMSHI 7I=siFAl7] BFELICE (500Kt

24

a|

e
[=]
=

1-1. SHEKPSO|| X238t S 7|(

—
:70:’

=
whde

nio
ar

.

Hd
ok

"

KPSO|AM &3t 22 EHF0 CHSto] 7|20l FAl7]

ot

-
o

=

1-2. 1HHO| A}

HF& LI CL.(500%})

F

A A 2 (H] ®2030)2

Mg

| 387 %

1KPS2
SMSHA 71=FA 7| HFRLICE(1,000%t LH2I)

ot

N
o

2.

Xt7|1 270 M (1,500

= AlR|oll CHot] FHIH2 = 7|03 Al7| HIEL|CH (500X} LHL])

SH
AN

dg2 FA0|H, ofi

A

SAI 287t &

TAl7| BFELICH

ol s 7Isol FAl7]

=

of =&3YH

21 <

A
o

HEZL| Ct(500X} LH2l)

77t FA0IH of dzigt HFE T ZIASLI?

H Ls Me[sfLtztHA T A
= 72 =51 O Zatof tisll 7[5 A7 BHELICH

ol

10

<

ol

il

3

!

-
o
[ |

AtEt= ot

E=pe)

7

=
T

of chsll #HHE22 7|6 FAl17|

ol
=

siAL x|71

Hi2L|CL (500X} LHL))

SHA|l Alghof CHel RMAHo=Z 7|&st0] FA|7| BRELICEH

- 2= A7lIz =oAL




